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Question No. 1 has three parts. In Part (A) Multiple choice 
questions, in Part (B) Fill in the blanks and in Part (C) Write 
true /false are given. Each question carries l mark. 

Question Nos. 2 to 6 are very short answer type questions. 

Each question carries 2 marks. 
P.T.O. 
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(37) 3 

() 4 

() 5 

(Part-A) Choose and write the correct option : 

() 6 

() yf1:2::3:x,x 1 H17 EII: 

(a) 3 

|2] 

(b) 4 

Question Nos. 7 to 10 are very short answer type questions. 
Each question carries 3 marks. 

(c) 5 

Question Nos. 11 to 14 are short answer type questions. Each 
question has an internal choice. Each question carries 4 marks. 

If 1:2:3:x, then the value of x will be : 

(d) 6 

Question Nos. 15 and 16 are short answer type questions. Each 
question has an internal choice. Each question carries 5 marks. 

Question Nos. 17 and 18 are long answer type questions. Each 
question has an internal choice. Each question carries 6 marks. 

[1x5=5] 
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(ii) afz x=2 sTr y =-1, à Htu 3x + 2y=pÄp #1 HA TI : 
(31) 8 

( ) 4 

If x = 2 

3x + 2y 

(a) 8 

(c) 4 

(31) (0, 3) 

() (-3, 5) 

(a) (0,3) 

( 37) 80o 

and y = -1, then the value ofp in the equation 

(ii) f - fgx-4H V fd? 

(c) (-3, 5) 

( ) 1000 

() 1800 

() 360o 

angle is : 

p will be: 

Which of the following points lies on the x-axis? 

(a) 800 

|3| 

(b) 1000 

(c) 

( ) -8 

1800 

() -4 

(d) 3600 

(b) -8 

(d) 4 

(3) (3, 0) 

In a cyclic quadrilateral one angle is 100°, then its opposite 

(3) -3,-5) 

(b) (3, 0) 

(d) (-3,-5) 

P.T.0. 
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2sin 47° 
cos 43° 

(3) 2 

() 43 

The value of 

(a) 2 

2 

(c) 43 

2sin 470 ) 

cos 43° 

|4| 

Yy-1 (TUg-a) fre i yfi nfas : 

(Part-B) Fill in the blanks : 

is: 

() 4 

() 47 

(b) 4 

(a) 

700 

47 

If the nth term of an arithmetic series is T, = 4n - 1, then 
the value of Sth term is 

(ii) ut< tan(90°-34°) = cote , a 0 l HH 

If tan(900- 340) = cot, then the value of 0 is 

If side ofa cube is 2 cm, then length of the face diagonal is 

B 

[1x5=5] 
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The value of x in the given figure is 

A 

(v) 24 HE0 À 3fqft t 

() 

|5] 

(Part-C) Write True or False : 

P 

700 

I 

The number of half year in 24 months is 

Dividend = (Divisor x Quotient) + Remainder 

(i) sec2150 - tan150 1 H7 15 I 

The value of sec²150 � tan15° is 15. 

In Recurring Deposit Account, the higher amount of interest 

is given in comparison to the Savings Account. 

The angle measure in a semicircle is 900. 

() fagot (-3, 0) 3tt (3, 0) g gt 6 

Distance between two points (-3, 0) and (3, 0) is 6. 

[1x5-5] 

P.T.0. 
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tan 40° 

cot S0° 

Find the value of : 
tan 40° 

+4 tan 450 

cot 50° 

ari 

+4 tan 45° 

|6| 

tey gy hs0 4, 2, 9, 7, 6, 8, 6, 5, 6 3iTT 10 1 416 IA 0fsI 

Find the mode of the given data 4, 2, 9, 7, 6, 8, 6, 5, 6 

and 10. 

Ag4<p(x) = x+ 3x + 2 , �t p(0) T p(2) 1 417 AA H0TUI 

If the polynomial p(x) = x+ 3x + 2, then find the value of p(0) 

and p(2). 

uf y6 tGI fa<30 A(1, 2) aT B(4, 6) A t i, a 3H tI 

If a line passes through the points A(1, 2) and B(4, 6), then find the 

slope of the line. 

u 2x2 + 5x +2 =0 a1 fafatst A fsI 

Find the discriminant of quadratic equation 2x+ 5x + 2 = 0. 

tfz jeT 6, 4, 7, p 3itt 8 HI H14 10 , �p i HH F0fTrI 

If the mean of numbers 6, 4, 7, p and 8 is 10, then find the value ofp. 

If the length is 3 cm, breadth is 4 cm and height is 5 cm of a cuboid, 

then find the length of diagonal of the cuboid. 

(2] 

[2] 

[2] 

[2] 

[2] 

(3] 

[3] 
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faît HAR Auf 6, 10, 14, 18, 

Find the 12th term of an arithmetic series 6, 10, 14, 18, 

Find the quadratic equation whose roots are (6+5) and (6-V5). 

If the surface area of sphere is 616 square cm, then find the volume 
of the sphere. 

0-10 

If the volume of a cylinder is 3080 cubic cm and height is 20 cm, 
then find the diameter of the cylinder. 

4 

Frequency 

|7] 

Class Interval 

8 

0-10 

4 

3TaT 

10-20 20-30 

16 

OR 

Find the mode of the following table : 

30-40 40-50 

10-20 20-30 

16 

3T2GT 

OR 

12 10 

30-40 40-50 

12 10 

[3] 

[4] 

[4] 

P.T.O. 
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0-10 

Frequency 

Class Interval 

6 

H4T ( q ) 

10-20 

9 

Find the median of the following table : 

following table : 

Time (in year) 

B(3, 5) 

Simple interest (in Rs.) 

|8| 

20-30 

13 

(0-10 10-20 20-30 

6 

0 

HHRII 

13 

HAY 100 Fyà 109% anfts g RAAHYT: 1, 2, 3, 4 AT 5 qd 

10 

30-40 

1 

10 

20 

State and prove Thales theorem. 

3T2GT 

OR 

30-40 

from the points A(7, 1) and B(3, 5). 

2 

The simple interests on principal Rs. 100 at the rate of 10% per 
annum for 1, 2, 3, 4 and 5 years respectively are shown in the 

20 

20 

40-50 50-60 

2 

Draw a graph between time and simple interest. 

20 

12 

40-50 50-60 

3 

30 

3 

10 

12 

30 

40 

4 

50 

40 

x A1 y À HH A 0s farg P(r, y), fagit A(7, 1) 3TR 

5 

50 

Find a relation between x and y, in which point P(r, y) is equidistant 

[4] 

[4] 
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37dT 

OR 

Prove that the lengths of tangents drawn from an external point to a 

circle are equal. 

Bank of Amit opened a Recurring Deposit Account in 

Rs. 300 per month for 2 years. If the rate of interest is 6% per 

annum, then how much amount will he get after 2 years? 

3T2CT 

OR 

A person opens Fixed Deposit Account in Bank. He deposited 

Rs. 40,000 for 2 years at a rate of interest of 5%. If interest is 

compounded annually, then how much money he will get at the time 

of maturity? 

yE faY ABC yfA ga l, foHö BC = 7 . 

Construct the circumcircle of a triangle ABC in which BC = 7 cm, 
ZB= 70 and AB =5 cm. Write steps of construction also. 

(5] 

[5] 

P.T.0. 
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y# fra ABC * H:gH T, frui AB = BC = AC= 6 A. 

Construct incircle of a triangle ABC in which AB = BC = AC= 6 cm. 
Write steps of construction also. 

cos ) 

Solve the equation: 

1-sin 0 

Prove that : 

cos 

fG fs fes : 

a'+ 

1+ cos 
V]- cos 

+ cos 0 

V1-cos0 

1-sin 1+sin 
+ 

b² +d² bd 

cos 0 

l+sin 9 

Qc 

cos 0 

b² +d² bd 

= COsec+ cot 

| 10 | 

If a :b = c:d, then prove that 

31dT 

= cosec0+ cot 0 

OR 

4 

=4 

OR 

[6] 

[6] 
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has 
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k faH H fs Hta f614 kx-y=2 3tt 6x - 2y= 3 1 

() unique solution; 

312dT 

For what value of k, system of equations kx -y=2 and 6x- 2y = 3 

(ii) no solution? 

OR 

2,24,500 
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